Answer on Question #69341 — Math — Algebra

Question

f(x)=3-4x—x°,x<c;

g(x)=In(3-x),x<3;

1. find the range of the function f when ¢ =0

2. find the largest value of ¢ for which the composite function gf is defined.

Solution

1. f(x)=3-4x-x° =—(x2 +4x+4)+4+3:—(x+2)2 +7;
So the range is (— oo;7] because one branch of this parabola is taken when
x <O0.
. g(f (x))=|n(3—3+4x+ x2)= In(x2 +4x)
X* +4x>0,

{x <3;

X(X +4) > 0= X € (— 00;-4) U (0;+00)
{X e (— oo;3)
X € (— 0;-4) U (0;3)
The largest value of ¢ for which the composite function g°f (x) = g(f(x))
is defined will be ¢ =3.

Answer: 1. (- oo;7]; 2.c=3.
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